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I . Water is being pumped into a conical tank. The tank has height of 6 m and the radius
of the base is 2 m. How fast is the volume of the water increasing when the height of the

water is rising at 2 m per minutg and the water is 3 m deep? V = I nrt h
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2. A spherical snowball is melting so that its volume is decreasing at a rate of
20 cm3lsec. Find the rate at which the radius is decreasins when the radius is 5 cm.
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3. Use linear approximation to estimate rE55
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5. Find the linearization, L(x), for f(x) at a when (x): slr x anda=fu.
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6. A 2O-foot_ ladder rests against a vertical wal1. Ifthe bottom ofthe ladder slides away
from_the wall at a speed of4 fl/sec, how fast is the angle between the bottom ofthe ladier
and the ground decreasing when the top ofthe ladderls g feet from the sround?
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